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General Instructions

» All questions are compulsory.
» This question paper consists of two sections. i.e., Section A and Section B
» Each section carries 30 marks.

C

SECTION - A
(History & Civics)
I. Choose the correct answer for the following questions: 2 X10=5)

1. Who started the Home Rule- League in Poona?

A. Annie Besant B. Mahatma Gandhi C. Lokmanya Tilak D. A.O.Hume
2. Who formed Swaraj Party?

A. Dr Rajendra Prasad and Dr M.A Ansari B. C.R.Das and Motilal Nehru
C. Sardar Vallabhbhai Patel and Mahatma Gandhi ~ D. Jawaharlal Nehru and Subhash Chandra Bose

3. What was the Boycott Movement?

A. The people of India decided to use only goods made in Britain

B. People refused to talk in Hindi, and to boycott schools which taught in Hindi

C. People decided to use only Indian goods and to boycott British goods

D. The Indians decided no one would travel to England
4. Who declared ‘Swaraj is my birthright and [ shall have it?

A. Lala Lajpat Rai B. Bal Gangadhar Tilak  C. Dadabhai Naoroji D. Bipin Chandra Pal
5. On learning about the Jallianwala Bagh Tragedy. Tagore returned his title of:

A. Knighthood B. Lord C. Kaiser-i-Hind D. Rai Sahib
6. Who was the Governor General of India when Bengal was partioned in 19057

A. Lord Chelmsford ~ B. Lord Curzon  C.Lord Minto ~ D. Lord Reading
7. Which of these princely states voluntarily joined the Indian Union after India got Independence in

19477

A. Junagadh B. Hyderabad C. Mysore D. Kashmir
8. Who was chosen the head the Indian States Department to oversee the integration of the princely

states with the Indian Union?

A. Pandit Jawaharlal Nehru B. Dr B.R.Ambedkar

C. Maulana Abul Kalam Azad D. Sardar Vallabhbhai Patel



9. Which of tlle;e is not partof the government role in developing the nation?
A. providing and maintaining the basic infrastructure
B. maintaining law and order
C. ensuring that the people of the country and go to cinema every week
D. ensuring the social welfare of the people
10. Which sector has consistently got the largest portion of the resources of the government in all
Five-Year Plans?
A. Electricity B. Agriculture C. Irrigation  D. Transport and communication
I1. Answer the following questions in two points: 2X5=10)
1. Define Nationalism?
2. What was the result of the Quit India Movement?
3. Why did Gandhi advocate the use of Khadi?
4. How was Junagadh annexed to India?
5. Write any four major function of a government?
(J II1. Answer any three of following question in four to five points each: 4X3=12)
1. Describe the non-cooperation movement? Why did Gandhiji withdraw the movement?
2. Why was the Planning Commission formed? What are the Five-Year Plans?
3. Write any four measures taken by the government to develop agriculture in India?
4. Briefly describe any four reason for the discontent of Indians over British Rule.
IV. On the Outline map of India locate the following places: (' X6=3)
1. Bombay 2. Haripur 3. Porbandar 4. Amritsar 5. Hyderabad
SECTION - B (Geography)
L. Choose the correct answer for the following questions: (2 X10=5)
1. What are the industries that operate more for public benefit than for making profits called?
A. Joint sector industries B. Public sector industries
(> C. Cooperative sector industries D. Private sector industries
2 What are the industries that use large amounts of capital, huge machines and modern technology to
make goods called?
A. cottage industry B. small scale industries
C. multi-national company D. large-scale industry
3. Which country is the leading producer of coffee in the world?

A. India B. Columbia C. Ghana D. Brazil



|

IL Answer the following question in two points:

IIL. Answer the following questions in four to five points each:

4. Which of these crops would you expected to find ina place with hot and wet climate?

A. Wheat B. Tea C. Rice D. Millets

5 Which of these are human-made inputs of agriculture?

A. relief of the land B. irrigation facilities C. earthworm’s  D. crops

6. Which of these is an example of Joint Sector Industry?

A. Maruti Udyog Limited B. Steel Authority of India Limited

C. Reliance Industries D. Bharat Heavy Electrical Limited

7. What is the average density of population in the world?

A. 50 person/sq km B. 49 persons/sq km C. 45 persons/sq km  D. 44 persons persons/sq km

8. What is the life expectancy rate of males in India at present?

A. 60 years B. 55 years C. 58 years D. 66 years

9. Which of these factors does not affects the productivity of a nation’s human resources?

A.Health  B.Literacy C. Artistic qualities  D. Technological and infrastructural development

10. Which of these is an area of high population density?

A. The Northern parts of Russia B The Deccan Plateau

C. The higher reaches of the Himalayas D. Banks of the Irrawaddy River in Myanmar
2X5=10)

1. What is mixed farming?

2. Distinguish between mineral and forest based industries?

3. Define (a) Dependency ratio (b) Human resources.
4. Write the climatic conditions essential for the production of maize.

5. Mention the activities which are involved in harvesting a crop.
3X4=12)

1. Define Subsistence farming? What are the different types of subsistence farming? Explain with

example any one of them.

¢ _ 2. Whatis population change? Write any three factors responsible for the process of population change?

Give reason.
3. What are the main factors affecting location of industry? Support with three reasons.
IV. On the Outline map of the India locate the following places: (2X6=3)

a) Mumbai-Pune Industrial belt b) Jharkhand-Bengal Industrial belt ¢) State which leading producer of
Jute d) State which has favourable sex composition €) Leading producer of tea in India  f) One area

population density of more than 100-200 persons per sq km
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